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General Instructions :

1
2

Candidate must write his/her Roll Number on the first page of the Question Paper.

Please check the Question Paper to verify that the total pages and the total number of questions
contained in the Question Paper are the same as those printed on the top of the first page. Also
check to see that the questions are in sequential order.

For the objective type of questions, you have to choose any one of the four alternatives given in
the question i.e. (A), (B), (C) or (D) and indicate your correct answer in the Answer-Book given
to you.

All the questions including objective type questions are to be answered within the allotted time and
no separate time limit is fixed for answering objective type questions.

Making any identification mark in the Answer-Book or writing Roll Number anywhere other than
the specified places will lead to disqualification of the candidate.

Write your Question Paper code No. 53/AS/3—| A | on the Answer-Book.

(@) The Question Paper is in English/Hindi medium only. However, if you wish, you can answer
in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi, Oriya,
Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided
in the Answer-Book.

(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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ECONOMICS

(rqemeR)
(214)
Time : 3 Hours] [Maximum Marks : 100
qog ¢ 3 gue] [quifes @ 100
Note : (1) All questions are compulsory.
(2) Marks allotted to each question are indicated against it.
(3) Each question from Q. Nos. 1 to 8 has four alternatives (A), (B), (C) and
(D) and out of which one is the most appropriate. Select the correct answer
and write it in your answer-book against the number of question.
e« (1) [l weT sfEd E
(2) UA® YT % 3k IAb A I ™ T |
(3) IEH™S T HHH 1 ¥ 8 Tb, TAH UT H X dbfewsd I (A), (B),
(C) 3t (D) T ™ % v & ws W&l a1 waitys sfad 3 | 2 3O g
AT AT IAGRABT H IH TS HHG b G AR |
1 Which of the following is studied under microeconomics ? 1

(A) Determination of the price of a good (B) Inflation

(C) Employment in a country (D) Economic growth
frafafad & @ feger At ordamm & owia otegad fopam <iam & 7

(A) Todll axg @ @Ha &1 i (B) &1 WhIfd

(C) st 3o 9 s (D) ot Tghg

2 Which factor becomes obsolete after a certain period ? 1
(A) Land (B) Labour
(C) Capital (D) Entrepreneurship

g Fieq e@fy & 999 @M @ WEd Avdied o St 8 7

(A) uf
(C) st

B) =W

(D) v=H
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3 Which out of the following is NOT a factor income ? 1

(A) Profit (B) Interest
(C) Wages (D) Labour
frafafad o & @ 9 Qe g @ g ?
(A) @™ B) ==
(©) gl D) =™
4 Which out of the following is a private indigenous production unit ? 1
(A) Partnership (B) HMT
(C©) MMTC (D) Collaborations
frafatgd & o A @ el <o SaeT 3@ ¢ 7
(A) WEET (B) Ta.uHd.
(C) Twaug . (D) =4
5 Direct payments properly calculated are : 1
(A) Variable Cost (B) Fixed Cost
(C) Implicit Cost (D) Explicit Cost
UH T@E YAH SEel 3fad ®9 ¥ AT & S 8, 8§
(A) ufEadt @nrd B) Reax @ra
(C) FHE @rFtd (D) wWE «rd
6 Equilibrium price of a commodity is the price at which : 1

(A) Quantity demanded is greater than quantity supplied
(B) Quantity supplied is greater than quantity demanded
(C) Quantity demanded = Quantity supplied

(D) None of the above

el a¥g @ GJ@d HMAA a8 BHEA BA ¢ O U
(A) AR 5 AET ST W S AET § SE® skl 8
(B) oMY @ TE WET AN g AET § Sy Er ¥
(C) =R T3 AET = SMYfd @& Ts AT

D) THF ¥ ¥ HE T
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7 By which method is primary data obtained indirectly ? 1

(A) Indirect Investigation (B) Direct personal investigation
(C) Mailed Questionnaire (D) Through Schedule
B W fafy g wefe sies omwd Y 9 W R S g7
(A) o9TH TN (B) ¥&& KD STHLN
(C) =& wgAE! (D) I BT
8 We can contribute to sustainable development by : 1

(A) Recycling

(B) Reducing the usage

(C) Finding substitutes for non-renewable resources
(D) All the above

T aog e o 9feE § 9%d ©
(A) YTEHIBIT BT

(B) WA @& ®H H(h

(C) I—Tarstoig d@ETeHl % WM GeHT
(D) wwga @

9 In your daily consumption some free services are used. Explain them with the 2
help of a suitable example.

oMues & U9 # $B Mg amell w1 YA B 5 | U% Sugad Sard
B oI H IR A BT |

10  Describe 'Consumer's Sovereignty' as a feature of a capitalist economy. 2

USiamEl sefea] & U bowar & ' O IUEERT 9qQ B Al Big |

11  Distinguish between product-based and process-based division of labour. 2

IAE AN 90 faumee qor uikar snuid 9™ fawes § 98 @i |

12 If 25 units of output are produced and the Total Fixed Cost is ¥ 150, 2
alongwith Total Variable Cost of ¥ 350. Calculate the Average Cost.

gfe 25 IHRA B IUET [HAT A & T FA U@ A T 350 & G A
R @@ T 150 ¥ @ ofEd @NTA H MIMT BT |
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13  Explain the relationship between price of the commodity and its quantity supplied. 2

el a¥g @ HEA AT SEDH! MY B Ts AT H WY B AT DI |

14  Complete the following table : 2
Price (%) Quantity Demanded (in Units) | Market Demand
per unit HH, HHg HH (in units)
1 12 - 10 30
2 9 - 8 23
3 6 - 6 16
4 3 : 4 9
Frefafad arell &l g &g ¢
s () a T A (GEEE H) TR AT
(afa =) e A Tfae B wfar C (zereai %)
1 12 - 10 30
2 - 8 23
3 6 - 6 16
4 3 - 4 9
15  Explain why it was difficult to equate the values of different goods which were 2

traded, under barter system of exchange.
TRy 6 axg fatme gomer o 9 argetl @ @R feer Sn en S wedl
B I HET BioT R a1 7

16 Explain the difference between diagrammatic and graphic presentation of data. 2

foslf ara qur Eresl g ofiwsl & URAiei § AT @ 9ueEy |

17  Which are the main components of environment ? 2

e % e "k dl &

18 Suppose you, as a consumer, purchase a geyser at a lower price without taking 2
the bill. What kind of serious problems are likely to be faced with this practice
of yours ? Explain.

AF AT 3T T SUHT & &9 ¥ 997 foa 0 &9 #Ha W U e gded
€ | 3MU% 3T HAEX & BT b T U BT AT &A1 U 7 G931 |
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19 Why is economics treated as "Science of Sustainable Development" ? 4

arfame W ‘A faee @ faser Ry ®er Sar ¥ 7

20 Explain the following features in a socialist society : 4
(1) Collective Ownership of Means of Production
(i1)) No Class Conflict.

gaeraEr gae o fFefafaa fastoaet @ amen st
(i) SURT & GHEAT B GEffed @A
(i) o "o @ g |

21  Explain the concept of "Production Function". 4
TART ®e B FAUN bl ATAT BT |

22 How do the following factors affect individual supply of a commodity : 4
(a) Price of the commodity
(b) Government policy

frafatad ®Re fBHl a5y & SR & 68 ¥R gwifed & © o
(a) a@aﬁaﬁﬂa
(b) | i

23  Explain how money can be used to make payments in future. 4

qUARY o YaT @1 SUAM qias § YaE BT & [l 69 YeR fear S
1 & |

24  Suppose, you have savings of I 14,000/- with you. Explain how will you keep 4
them safe in the post office near your house.

AE W 3ue e % 14,000/- & UG ¢ | GUARY 6 v fRE wer ¥ o
T % U SHEX H 39 gAed @i 7

25 How can an information be both qualitative and quantitative in nature ? Give suitable 4
examples.

S A TR H TS JUT TEATED, A b B bl 5 P IUGH SaEA
EUSCN

26 Distinguish between a variable and an attribute. 4

WX A T A A B |
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27

28

29

30

31

32

33

34

Arrange the marks obtained by 24 students in Mathematics in ascending and
descending order :

T # 24 fqEmi¥iEl gTU wTiel B Sed 3¢ q€7 Hed Y %A W Hared &Iy
10 50 48 7 11 16
6 12 18 28 49 45
40 20 30 15 36 38
8§ 25 5 9 14 19

Explain the role played by the service sector in the Indian economy.

A faeawn o a1 (Jaes) &5% B el & Al B |

Suppose, there is a drought situation in the economy and you are the government.
What role will you play to control the situation of price rise, which is an outcome
of the drought ?

A Wiy, sfefegaee o @ & Rafd 3 o ofMT ¥R € | &Y dFa gig @l
Rafq &l, s g@ & oo ¥, @& R &0 & g | qieer et ?

Explain how the Consumer Protection Act 1986 provides all the support and
guidance against violation of Consumer Rights.

TR fop Iuwierr dXewr sitatrag 1986 Iusier & Ifueri & Seed & fauidid
T ge™ar qo7 AFGYE BH &Y § 7

Why does the demand curve slope downwards from left to right ? Explain.

C 0 G 1 s et B 2 5 2| S S - = Al

Describe how trading activities are integral part of the economy.

MR &I TArareE srefegeren & it 3 9 ¥, aud sy |

Compare the Chinese economy with the Indian economy.

99 B feRar B WG @ Adeawn ¥ ga s |

What is 'Habitat degradation' ? Mention its two major causes and one effect.
Ui AR & 6L &1 el & ¢ 39 &l Y@ BIRON a9 Th J9E &l
SwiE BT |

4
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